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1.  Assume you are attempting to calculate the EVA for 1997 for Lucent Technology Inc.  As a part of this calculation, you must determine Lucent’s NOPAT.  For each item that comprises NOPAT, discuss what information you need and where you would find this information.  Note:  be specific and be sure to discuss which year’s information you would use.

2.  Five months from today, Monopoly Bill Inc. is expected to pay its first dividend ever of $0.32 per share.  After this first dividend, Monopoly is expected to pay a quarterly dividend of $0.32 per share through 3 years and 11 months from today.  Thereafter, Monopoly is expected to increase its divdiend by 1% per quarter forever.  The standard deviation of returns on Monopoly is 53% and on the S&P 500 is 28%.  The correlation between Monopoly and the S&P 500 is 0.70.  If the T-bill rate is 5.31% per year, what is the most you would be willing to pay for Monopoly stock?

3.  Assume that the return on a one-year Treasury strip is 5.8%.  Assume also that the latest forecast by the Fed suggests that the return on one-year Treasury strip a year from today will be 5.5% and that the return on a one-year Treasury strip two years from today will be 5.3%.

a.  If the expectations hypothesis is correct, what is a reasonabl estimate of the term structure that exists today?

b.  If the inflation risk hypothesis is correct, what is a reasonable estimate of the term structure that exists today?

c.  If your answers in parts a and b are the same, why are they the same?  If your answers in parts a and b are different, why are they different?

4.  Your firm recently began to calculate EVA.  To everyones suprise, even though earnings per share are positive and have been rising each year, EVA is negative and has been falling.  

a.  Why might EVA be negative and falling even though earnings per share are positive and rising?

b.  Which ratios would you calculate to determine which of these possible reasons (in part a) is the source(s) of the discrepency between earnings per share and EVA?  Justify your answer.

c.  What would you look for once you calculate these ratios?

5.  Your firm is considering building a new assembly plant.  As part of the analysis, your firm needs a rate at which it can take the present values of the cash flows that the plant is expected to generate.  Based on the following information, what rate should your firm use?





    Return on:

Economy
Probability
Plant
S&P500
Great
35%
35%
22%

Fine
50%
15%
12%

Lousy
15%
-30%
-15%

Return on T-bills is 5.34%
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6.  In order to calculate the EVA for TU Acquisitions Inc. you need to estimate TU’s cost of capital.  Given the following information, what is TU’s cost of capital?

# of outstanding shares = 350,000

Market price per share = 


Book value per share = $18.92

Book value of debt = $2,100,000

Average yield to maturity on TU’s debt is 12%

Standard deviation of returns on TU’s stock is 34%

Standard deviation of returns on the S&P 500 is 28%

Correlation between TU and the S&P 500 is 0.65

Statutory tax rate = 35%

Return on 30-year T-strip = 6.1%

Return on 1-month T-bill = 5.35%

Solutions:

1.  
Use 1997 numbers [8] for all NOPAT numbers except for amortization of R&D

Operating profit => revenues [2] less operating expenses [2] from income statement [2]

Interest earned on operating cash => interest income from cash [2] (not marketable securites [1]) from income statement [2] and possibly footnotes [1].  Note:  determine whether from cash from balance sheet [2].

Goodwill amortization:  amortization of goodwill [2] from income statement [1] or the footnotes [1]. Note:  only if deducted from operating profit [2].

R&D expense: R&D expense [2] from income statement [2] or possibly the footnotes [1].  Note:  only if deducted from operating profit [2].

Change in LIFO provision:  LIFO provision for 1997 - LIFO provision for 1996 [2] in footnotes [2]

Cash taxes:  cash taxes [2] on statement of cash flows [1] or footnotes [1] or if in neither place, calculate it [1].

Amortization of R&D => need R&D spending [2] for 1992 through 1996 [2].  Most likely in footnote [1] or in discussion of results by management [1].

Scale [checks=points]:  42=50, 41=49, 40=48, 39=47, 38=46, 37=45, 36=44, 35=43, 34=42, 33=41, 32=40, 31=39, 30=38, 29=37, 27=36, 25=34, 24=33
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2.  
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  note:  no market risk premium given in problem…assumed 8.2%.
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V0 = 3.33646+6.55027=$9.89

Points:  equations: [+3 each]; variables:  ¼, 14, 2/3, 3 8/12 [+4 each], .7 [+2], .53, .28, 5.31, .32 [x2], .01 [+1 each]; sum of the two present values [+2].

3.  
a.  
r(1) = 5.8% [2]
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b.  
r(1) = 5.8% [2]

r(2) > 5.65% [4]

r(3) > 5.533% [4]

c.  Under the inflation risk hypothesis, long-term rates include an inflation risk premium [4] to compensate investors for the greater uncertainty of real returns [4] (which investors are assumed to be concerned with [2]).  This greater uncertainty stems from the greater difficulty in predicting long-term inflation than short-term inflation.  There is no such risk-premium with the expectations hypothesis [2] since future rates are assumed to be perfectly predictable [4].

Scale [checks=points]:  36=50, 32=48, 30=44, 26=42, 24=40, 22=38, 20=36, 15=31, 12=29, 4=25
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4.  
a.  most likely that poor asset utilization [4], but could be poor profit per sales [4], poor use of free capital (current liabilities) [4], low leverage [2], or high cost of equity (which EPS ignores) [2].

b.  
profit margin [4] to see if low profit per $ of sales [2]

Asset Utilization:

Fixed asset turnover [2] to see if underutilizing fixed assets [1]

Inventory turnover [2] to see if excessive inventory [1]

Average collection period [2] to see if taking too long to collect receivables [1]

Total asset turnover [2] to see if underutilizing assets [1]

Use of free capital:

Current ratio [4] to look at current assets per $ of current liabilities [2]

Quick ratio [2] to look at liquid assets per $ of current liabilities [1]

Note:  for both, a high number relative to the industry indicates possible poor usage of current liabilities to fund assets [2]

Leverage:  debt ratio [4] (or other debt/equity or asset/equity) to see if low use of debt [2]

c.  
profit margin:  low ratio relative [4] to industry and possibly falling [2]

asset utilization:  low (high for ACP) relative to industry [4] and falling (rising for ACP) [4]

current and quick:  high relative to industry [4] and rising [4]

debt ratio:  look for low ratio relative to industry [4] and falling [4]

scale [checks=points]:  24=50, 22=47, 21=46, 20=45, 18=44, 16=42, 13=39, 9=37, 8=36, 6=34, 5=33, 4=32, 2=31, 1=25

5. 
E(rp) = .35(35) + .5(15) + .15(-30) = 15.25%

E(rm) = .35(22) + .5(12) + .15(-15) = 11.45%

p,m = .35(35-15.25)(22-11.45)+.5(15-15.25)(12-11.45)+.15(-30-15.25)(-15-11.45) = 252.3875
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r=.0534+1.7443(.1145-.0534)=.16045

points:  equations [+5 each]; variables:  returns [+1 each, 15 total points], probability [+2 each, 6 points total], risk-free [+3], final answer [+1]

6.  S = 350,000 
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15.75 = 5,512,500
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rE = 6.1 + 0.78929(6) = 10.83571

Cost of capital = 
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Points:  equations:  , covariance, rE, coc [+6 each]; variables: 15.75, 6.1, 6, .35, .65 [+3 each]; 350,000; .34; .28; 2,100,000; 12 [+2 each]; final answer [+1]
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